//SA{’Q = crcth = Huida = (3ob*=se(p e c®)-Bo)( JQCEFM

&B busc c 3e-cC
—t-x v CasfS=
M o o =€ (2] /f’\'{'_= /.)’[1- :7[{———-4—-’——%:0
yﬂ%ﬂug L EEESE (409 L
oL, ;\."(a) ~ rY ﬂ"](\;) 17.‘-06 ‘Ru
— BB (8839 - Hu49) :

ﬂ#.l ¢ ‘D) l{iAABC“Pabc'\?'JJ%%ABCé’Jﬂxi % u =(b3a—c) » v =(cosB,cosC) * B

seR O 3mf-sC [} % 7% XA )= 2+8 o /\
wSB: wC ullv o KcosB=? B A=3
I o ey e

= SupeasC+ osfsac (A)_ ®2 ©~ ol I 2 r = Hx=x+3, 43)=
- 3?(;“5\ )= -}L 2 Vio 3 j )(’X)J/x—/)( +{§’><}L—ﬁ+’ 70 . 7[ é

(D) 2¥f(0= 2'-L R f (log, (log, 4))+/ (log, (log, 5))= ? (A)S  (B)Y2 ()1 (D)0~

( C) 3.4—1—7@;%%&@1’@&%—1&@ bR 1<a,b<9 - Xﬁ%(ab),&&#.,#ﬁ%iy ax’ —bx_l'_?}‘é’l
i

oo B0 !
15 17 L 7 3 19
A= B)L 2 (DY »
W B (C)8l (D)27 =) /‘T+7+3)/&/ =O/T;
( B) 4.3%a bA%HA (a+3)b+)=12+14i » Za, BB a+3i Bb+ithEish
(0°<@, B<360°) » 4 O=a+f » T F4q4 sk 2 o \GB
(A)0=45° (B)45°<0<60° (C)9=60° (D)60°<O<90° « 7
( D) S , i
R =x+3+fgx)dx > g(X)=2x-9+[ f(x)dx » Kk f3)=2?
A0 B2 ©4 D6
( D) 6.84%A4ABCH= x&&%abc*_ﬂ.logabmﬁ‘ﬁi;&x —2x+sinC+cosC=08 E4R » F]
AABC 2 —3= B ? L| .J. l’ 8- 0= J; snCtGsC= /ﬂ) 20nChsC= J‘-»P_T(:j:?“
WHRAZAY BLEZAY (C)f»tﬁa—-ﬁaﬂ/ D) $BEAZAL - :MC;‘?'OJ’

( C) 7. AEHGTERPRENLEAERY » THRAE RN AL E 2V _N o g 401k A
RO ASBH 1941 » KPR BB TAENGG B 2 Fo B 47 2 (XX E R AR xEY B KK
#) (A)38 (B)90 (C)154 (D)406 -
2 2

(D) 8 4@ el : 7—?—1 v BEIFE—R£EPQ ik POWAEAL > B
i
@ - l{+[‘)zw l)_] =1 T+,L/:2D

I’ PF'+QF' = (A)32 (B)36"(C)40 (D)48 -

iES P=13+[3]  [Ag2)=3 74
\| %

V aba (le=yefs] | ()=

\k Al=fsg =0 [ g ot )eh ok
{F_Q? %—/'-3 =v/)¢—:;Lf.9<—$'(,=0 ¥+Q—F=[{-0+(?Q)'J-=L“X

]/oi-{-“‘:[_élﬁ
Tobatiyisg P =(epr-bof
= &0+ b= .
Sl xces = s _ % 1 E/H 3E
) =X PQ = 2 foo = F\Q: L‘_Q

Created with Scanner Pro



https://apple.co/3zkbMwu

Ip
Seb) SR @B R 25 0 R F 5| AR bR IR R E Ak Y 7 ﬁ/m

(A) L' (1)=0 B) f(x) AA KM (C)y=f(x) ¥ B xshiaty D)FERX f(x)=1

A AZMEFAR -

l (AD) 10. fe WS4k b S0 A RS E QA58 S92 BASHIM R ML A G - HE el
et ' BUHE—DBH— R Cho B4 BHHWERNHN Bl 4> B A BHRSH S
!-f-’-w‘f—)L

6 SE 8t 5 51 B S AT — :k;fﬁbeE%fté‘JlP~%4ﬁ Se, BENBEA S BHTBEE . R
) <2
Lii—-z.m)w&&mmmﬁa l=—( lpz &r__.&—_i b 5.,

=& =T

/L v T a4
B

5
(A)C.=5 B)e,>¢ (O#FI(c,,j—c) X—@% 5] (D)limc, =2
[l (BC) LA —HRH ARY  HREBGMRESS  HREGOMES L - S EHIHESK
D
B ey '**Xaﬂzmw:m R P4k AT A B2

5
5_4"’_((__('31'_)_) peadls | E' XNB (n=b, P=g) F(X’? o (4)(4)- I
=

/oL ‘
4 5' 5
EXerp = oot p K2)=C (MG pewy)
(BD) 12. &4 C:(x=1)*+y <1 » Cz.x +(p=1)2 <1 » RE B EsE e ETE -

h
= 2+t ﬂ"_'
() F (A)C Sex $IR B PTT BB M AT I F B (B)C, 4 x $bie 84 /745 ¢ 25 40 5%
Con=2-3(1)'
4 :
C.= () +3(d )")zn*iﬂ% mxHEM OCGx B dmiFnndBugss 1 58m D) G4
n- - 7
E L X RRRSATAT QAR B 270 3 BAn Cs
- (54 +506) ~ o | (j)
/Ti C—] « IE | ) - )-TE_*
E_HH 458 (He0n) D ’><
— HZRHE (51849 - #365) bt

L 3% /(x)=x"=16 » % P={x,,%, %, , %, %,_,x,} &[1,3]h n %

4

> neN» B4R 2 T

L, > Bx$gthU, » 3%

U ahlg=— 3 Iz B %En ?n=
Ak o5 AR Z B &4 2 1160001

xcosf — ysin@ =4 R
2. OB¥—AE- ﬂim{ ysin » ey A2 (1,246) ,ax,-ﬁ{msa ySugs=

xsin0+ycost9=§ xsin@+ ycosf =4 Ax=2
. n- n
3= ( +JrCl)e,l m I ] [ .
x,y) - (_2\/(_)-]) LT-‘I ( L l )_‘&(X')A%_Z -F[O(')AIX /X;r{-r'%-f
Y e i0 _ /
Q “J+ki= (-af6+i )Q« 2 E/dt 3E ({(3)—-{\(1)) —_—— e Tand
i:Q'(]E) =) h»> Iéboeo =’/é000[

Created with Scanner Pro



https://apple.co/3zkbMwu

